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General Studies
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M-2018/III

lkekU; vè;;u GENERAL STUDIES

r`rh; iz'u&i=k THIRD PAPER

ijh{kkfFkZ;ksa ds fy;s funsZ'k%

Instructions to the candidates :

bl iz'u&i=k esa [kaM&v ,oa [kaM&c gSaA izR;sd [kaM 150 vad dk gS

This questions paper consists of Part-A and Part-B. Each part carries 150 Marks.
	 1.	 bl iz'u&i=k ds izR;sd [kaM esa dqy rhu iz'u gSA lHkh iz'uksa ds mÙkj nsuk vko';d gSA iz'u Øekad 02 rFkk 03 esa vkarfjd fodYi 

gSA iz'u Øekad 02 esa 'kCn lhek 100 gS rFkk iz'u Øekad 03 esa 'kCn lhek 300 gSA
		  Each part of this questions paper consists of 03 questions. All questions are compulsory. Question No.02 and 03 have 

an internal choice. For Questions No.02 word limit is 100 words and for Question No. 03 word limit is 300 words.
	 2.	 iz'uksa ds mÙkj ekè;e esa fy[ks tkus pkfg;s ftldk p;u vkius vius vkosnu&i=k esa fd;k gSA fdlh vU; ekè;e esa fy[ks x;s mÙkj 

ij dksbZ vad ugha feysxkA lHkh 03 iz'u djuk vfuok;Z gSA iz'u&i=k ds vuqlkj gh iz'uksa ds mÙkj Øekuqlkj nsa] ,d gh iz'u ds 

fofHkUUk Hkkxksa ds mÙkj vfuok;Z :i ls ,d lkFk gh fy[k tk;sa rFkk muds chp vU; iz'uksa ds mÙkj u fy[ks tk;saA
		  Answers should be written in the medium which you have opted in your Application Form. No marks will be awarded, 

if the answer is written in any other medium. All the three questions must be answered. Questions should be answered 
exactly in order in which they appear in the questions paper. Answers to the various parts of the same questions should 
be written together compulsorily and answers of other questions should not be inserted between them.

	 3.	 izFke iz'u y/q mÙkjh; gS] ftlesa 15 vfuok;Z iz'u gSaA izR;sd dk mÙkj ,d vFkok nks iafDr;ksa esa nsuk gSA
	 	 The first questions is of short answer type consisting of 15 compulsory questions. Each one is to be answered in one 

or two lines.
	 4.	 tgk¡ 'kCn lhek nh xbZ gS mldk vo'; ikyu djsaA
		  Wherever word limit has been given, it must be adhered to.
	 5.	 ;fn fdlh iz'u es fdlh izdkj dksbZ eqnz.k ;k rF;kRed izdkj dh =kqfV gks] rks iz'u ds fgUnh rFkk vaxzsth :ikarj.k esa ls vaxzsth 

:ikarj ekud ekuk tk;sxkA
		  In case there is any error of printing or factual nature, then out of the Hindi and English versions of the questions, the 

English version will be treated as standard.

[k.M&v @ Part-A

	 1.	 fuEufyf•r esa ls çR;sd ij 1 ;k 2 iafDr;ksa esa fyf•,@mÙkj nhft,%� 3×15=45 
Write on/Answer the following in 1 or 2 lines each:

	 (a)	 U;wfDy;j fj,sDVj

		  Nuclear reactor
	 (b)	 foVkfeu C ds lzksr ,oa bldh deh ls gksus okyh chekjh

		  Sources of vitamin C and disease caused due to its deficiency
	 (c)		 ,slhfVyhu ,oa blds mi;ksx

			  Acetylene and its uses
	 (d)	 vEy o"kkZ

		  Acid rain
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	 (e)	 ik'pqjhdj.k

		  Pasteurization
	 (f)	 dBksj ty

		  Hard water
	 (g)	 lh- ,iQ- lh-

		  CFC
	 (h)	 leqæh ?kksM+k

		  Sea horse
	 (i)		 fuEufyf•r ds iw.kZ :i fyf•,%

	 		 Write the full forms of the following:
		  (i) UNESCO
		  (ii) SCOPE
		  (iii) UNDP

	 (j).	 Iysx (egkekjh) ds dkjd&tho ,oa blds okgd dk oSKkfud uke fyf•,A

		  Write the scientific names of causative agent and vector of plague.
	 (k)	 fdUgh nks tSfod dhVuk'kh ds oSKkfud uke fyf•,A

		  Write the scientific names of any two biopesticides.
	 (l)	 lw;Z ds çdk'k esa ik;s tkus okys çkÑfrd jaxksa ds Øec¼ uke fyf•,A

		  Enlist the natural colours present in sunlight in a sequence.
	 (m)	 ,d yM+dk lM+d ds dqÙks dks ns•dj rsth ls Hkkxrk gSA mldh 'olunj rst gks tkrh gS rFkk jDrpki Hkh c<+ tkrk 

gSA mlds jDr esa fdl gkWekZsu dh ek=kk vR;f/d c<+h gqbZ gksxh\ bl gkWekZsu dks lkfcr djus okyh xzfUFk dk uke 
fyf•,A

		  A boy runs fast after seeing a street dog- His breathing becomes fast and blood pressure also increases. Which 
hormone will be found to be high in his blood? Name the gland secreting this hormone.

	 (n)	 Cyhfpax ikmMj D;k gksrk gS\ blds nks mi;ksx crkb,A

		  What is bleaching powder? Describe its two uses.
	 (o)	 fdUgha rhu gfjr x`g (xzhugkml) xSlksa ds uke fyf•,A

		  Enlist any three greenhouse gases.

	 2.		fuEufyf•r esa ls çR;sd ij yxHkx 100 'kCnksa esa fyf•,@mÙkj nhft, (dksbZ nl)� 6 × 10 = 60

			 Write on/Answer the following in about 100 words each (any ten):
	 (a)	 IykLVj vkWiQ isfjl ,oa bldk mi;ksx

		  Plaster of Paris and its uses
	 (b)	 la{kkj.k ,oa bldh jksdFkke

		  Corrosion and its prevention
	 (c)	 U;wfDy;j iQkWyvkmV ,oa bldk çHkko

		  Nuclear fallout and its effects
	 (d)	 /zwoh; mixzg ,oa mudh mi;ksfxrk

		  Polar satelites and their usefulness

	 (e)	 rkykc dks ,d ikfjfLFkfrd ra=k ekurs gq, blds fofHkUu iks"kh Lrjksa dk o.kZu dhft, rFkk mi;qDr mnkgj.k Hkh fyf•,A

		  Considering pond an ecosystem, describe its various trophic levels and give suitable example.
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	 (f)	 ,d ijh{kk esa Nk=kksa dks mÙkh.kZ gksus ds fy, 36% vad çkIr djuk vko';d FkkA ,d Nk=k us 83 vad çkIr fd,] ijUrq 
og 7 vadksa ls vuqÙkh.kZ ?kksf"kr fd;k x;kA ijh{kk ds fy, fu/kZfjr vf/dre iw.kk±d dh x.kuk dhft,A

			  In an examination, the students were required to obtain 36% pass marks. A student obtained 83 marks, but 
he was declared fail by 7 marks. Calculate the maximum marks allotted for the examination.

	 (g)	 Mk;kfcVht esfyVl rFkk Mk;kfcVht bUlhfiMl esa Hksn Li"V dhft,A buds y{k.k ,oa lEcfU/r gkWekZsu dk o.kZu dhft,A

		  Differentiate diabetes mellitus from diabetes insipidus. Describe their symptoms and concerned hormones.
	 (h)	 gheksiQhfy;k ij ,d fVIi.kh fyf•,A

		  Write a note on haemophilia.
	 (i)	 fof/ foKku ls D;k rkRi;Z gS\ fof/ foKku esa dhVksa dh Hkwfedk le>kb,

		  What is forensic science? Explain the role of insects in forensic science.
	 (j)	 lqnwj lqxzkfgrk ij ,d fVIi.kh fyf•,A

		  Write a note on remote sensing.
	 (k)	 lkbcj lqj{kk D;k gS vkSj ;g D;ksa vko';d gS\

		  What is cyber defence and why is it essential?
	 (l)	 jes'k ds firk jes'k ls 27 o"kZ cM+s gSaA 5 o"kZ i'pkr~ jes'k dh vk;q vkSj mlds firk dh vk;q dk vuqikr 2:3 gks 

tk,xkA nksuksa dh orZeku vk;q dh x.kuk dhft,A

		  Father of Ramesh is 27-year older than Ramesh. After 5 years, the ratio of the age of Ramesh and his father 
will be 2:3. Calculate their present age.

	 (m)	 feJ/krq D;k gksrs gSa\ mnkgj.k lfgr le>kb,A

		  What are alloys? Explain with example.
	 (n)	 ekè;] ekfè;dk ,oa cgqyd ij fVIi.kh fyf•,A

		  Write notes on mean, median and mode.
	 (o)	 MkfoZuokn dk laf{kIr o.kZu dhft,A

		  Briefly describe Darwinism.

	 3.	 fuEufyf•r ç'uksa esa ls çR;sd dk mÙkj yxHkx 300 'kCnksa esa nhft, (dksbZ rhu)

		 Answer any three of the following questions in about 300 words each:
	 (a)	 e/qefD•;ksa dh fofHkUu çtkfr;ksa ds uke fyf•,A oSKkfud fof/ }kjk e/q çkIr djus dh fof/ dk o.kZu dhft,A

		  Enumerate various species of honeybees. Describe the scientific method for obtaining honey.
	 (b)	 i;kZoj.k çnw"k.k dks ifjHkkf"kr dhft,A ok;q çnw"k.k ds fofHkUu lzksrksa ,oa lthoksa ij iM+us okys blds nq"çHkko dk o.kZu 

dhft, budh jksdFkke ds fy, mik; Hkh eq>kb,A

		  Define environmental pollution. Discuss the various sources of air pollution and its adverse effect on living 
beings. Also give suggestions for their remedy.

	 (c)	 tSo fofo/rk ls D;k rkRi;Z gS\ ge vUrjkZ"Vªh; tSo fofo/rk fnol dc eukrs gSa\ fdlh fn, x, ikfjfLFkfrd rU=k esa 
çlkj rFkk ftukse lao/Zu ds fy, mi;ksxh rduhdksa dk o.kZu dhft,A

		  What is meant by biodiversity? When do we observe International Biodiversity Day? Describe the technologies 
used for propagation and genome conservation in a given ecosystem.

	 (d)	 lwpuk çkS|ksfxdh D;k gS\ lwpuk çkS|ksfxdh esa ç;qDr fofHkUu lk/uksa dk o.kZu dhft,A

		  What is Information Technology? Discuss various means used in Information Technology.
	 (e)	 ÅtkZ ds fofHkUu xSj&ijEijkxr lzksrksa ds uke fyf•,A muesa ls fdUgha rhu dk foLr`r o.kZu dhft,A

		  Enumerate the various non-conventional sources of energy. Describe any three of them in detail.
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	 (f)		 uhps fn, x, ç'uksa ds mÙkj nhft,%

			  (i) fofo/rk lwpdkad D;k gS\

			  (ii) flEilu lwpdkad ,oa flEilu fofo/rk lwpdkad dk o.kZu dhft,A

			  (iii) uhps fn, x, vk¡dM+ksa ds fy, flEilu lwpdkad dh x.kuk dhft,%

					   tkfr		 (n)

				   1-	vke		 2

				   2-	v'kksd		 8

				   3-	dktw		 1

				   4-	ukfj;y		 1

				   5-	veyrkl		 3

				  Answer the following questions given below:
		  (i) What is diversity index?
			  (ii) Describe Simpson's index and Simpson's index of diversity.
			  (iii) Calculate Simpson's index for the following data:
					    Species		 (n)
				   1.	 Mango		  2

				   2.	 Ashok		  8

				   3.	 Cashew		  1

				   4.	 Coconut		  1

				   5.	 Amaltas		  3

[k.M&c @ Part-B

	 1.	 fuEufyf•r esa ls çR;sd dk 1 ;k 2 iafDr;ksa esa mÙkj nhft,� 3×15=45

		 Answer the following in 1 or 2 lines each:
	 (a)	 foeqæhdj.k dk D;k vFkZ gS\

		  What is the meaning of demonetization?
	 (b)	 oLrq ,oa lsok dj (GST) ls vki D;k le>rs gSa\

	 	 What do you understand by Goods and Services Tax (GST)?
	 (c)	 'kq¼ vUrokZg dh vo/kj.kk D;k gS\

		  What is the concept of net inflow?
	 (d)	 gfjr ys•kadu ls D;k rkRi;Z gS\

	 	 What is meant by Green Accounting?
	 (e)	 dkSu&ls ns'k fczDl ds lnL; gS\

		  Which countries are the member of BRICS?
	 (f)	 ç/kueU=kh eqæk ;kstuk ds D;k mís'; gSa\

		  What are the objectives of Pradhan Mantri Mudra Yojna?
	 (g)	 •k| lqj{kk dh vo/kj.kk D;k gS\

		  What is the concept of food security?
	 (h)	 fodsUæhÑr ;kstuk ls vki D;k le>rs gSa\

		  What do you understand by decentralized planning?

5



	 (i)	 jkstxkj dh xq.koÙkk D;k gS\

		  What is the quality of employment?
	 (j)	 Mk;jsDV csfufiQV VªkUliQj Ldhe dk çeq• mís'; D;k gS\

		  What is the main purpose of Direct Benefit Transfer (DBT) Scheme?
	 (k)	 os çeq• vo;o D;k gSa ftuij ekuo fodkl lwpdkad (HDI) vk/kfjr gksrk gS\

		  What are the chief components on which Human Development Index is based on?
	 (l)	 {ks=kh; vlarqyu ds rhu dkj.k crkb,A

		  Give three reasons of regional imbalance.
	 (m)	 gekjs ns'k esa fuEu fyax vuqikr ds D;k dkj.k gSa\

		  What are the reasons for low sex ratio in our country?
	 (n)	 eè; çns'k esa fuEu m|ksxhdj.k ds dksbZ nks dkj.k fyf•,A

		  Write any two reasons for low industrialization in Madhya Pradesh
	 (p)	 fudVorhZ o"kks± esa dherksa esa eqækLiQhfrd o`f¼ ds dksbZ nks dkj.k fyf•,A

		  Write any two causes of inflationary rise in prices in recent years.

	 2.	 fuEufyf•r ç'uksa esa ls çR;sd dk mÙkj yxHkx 100 'kCnksa esa nhft,%

			 Answer the following questions in about 100 words each:
	 (a)	 Hkkjrh; vFkZO;oLFkk dks ;kstukc¼ fodkl'khy vFkZO;oLFkk D;ksa le>k tkrk gS\ fo'ys"k.k dhft,A

		  Analyze why Indian economy is considered as planned developing economy.

vFkok@Or
		  gfjr ØkfUr o Lo.kZ ØkfUr esa Hksn dhft,A

		  Distinguish between Green Revolution and Golden Revolution.
	 (b)	 ujflage lfefr dh fliQkfj'kksa ds vk/kj ij ljdkj }kjk foÙkh; {ks=k esa lq/kj ds fy, D;k ç;kl fd, x,\

		  What measures has been undertaken by the government for the reform in its financial sector on recommendations 
of the Narasimham Committee?

vFkok@Or
		  mnkjhdj.k ds ifj.kkeLo:i Hkkjrh; Ñf"k esa mHkjrh ço`fÙk;k¡ dkSu&lh gS\

		  What are some emerging trends in Indian agriculture as a result of liberalization?
	 (c)	 ç/kueU=kh xzke lM+d ;kstuk ds D;k mís'; gSa\

		  What are the objectives of Pradhan Mantri Gram Sadak Yojna (PMGSY)?

vFkok@Or
		  tokgjyky usg: jk"Vªh; 'kgjh uohdj.k fe'ku (JNNURM) ij ,d laf{kIr fVIi.kh fyf•,A

		  Write a short note on Jawaharlal Nehru National Urban Renewal Mission (JNNURM).
	 (d)	 Ñf"k dks laLFkkxr lk• miyC/ djkus esa {ks=kh; xzkeh.k cSadksa dh Hkwfedk fyf•,A

		  Write the role of Regional Rural Banks in providing institutional credit to agriculture.

vFkok@Or
		  fdlku ØsfMV dkMZ Ldhe dh çeq• fo'ks"krk fyf•,A

	 	 Write the salient feature of Kisan Credit Card Scheme.
	 (e)	 Hkkjr esa lgdkjh vkUnksyu dks iquthZfor djus gsrq mik;ksa dks lq>kb,

		  Suggest the measures to revitalize Cooperative Movement in India.
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vFkok@Or
		  eè; çns'k esa Ñf"k ds egÙo ij ,d laf{kIr fVIi.kh fyf•,A

		  Write a short note on the importance of agriculture in Madhya Pradesh.
	 (f)	 lkekftd U;k; o dY;k.k dks è;ku esa j•rs gq, Hkkjr esa vkfFkZd lq/kj dk o.kZu dhft,A

		  Discuss the economic reforms in India in the light of social justice and welfare.

vFkok@Or
		  iqjk (PURA)] fodkl dh fn'kk esa ,d uohu xk¡/hoknh n`f"Vdks.k] dk Hkkjr tSls fodkl'khy ns'k ds fy, fo'ys"k.k 

dhft,A

		  Analyze PURA a new Gandhian approach to development for developing country like India.
	 (g)	 'ks;j cktkj (LVkWd ekdZsV) ds dk;ks± dks le>kb,A

		  Explain the functions of Stock Market.

vFkok@Or
		  lsch (SEBI) }kjk Hkkjr esa iwath cktkj dks çcy cukus ds fy, fd, x, fofHkUu mik;ksa dk fo'ys"k.k dhft,A 

		  Analyze various steps taken by SEBI to strengthen the capital market in India.
	 (h)	 Hkkjr esa vk; forj.k esa vlekurkvksa dks nwj djus ds fy, ljdkj }kjk fd, x, mik;ksa dks le>kb,A

		  Explain the measures taken by government to eliminate inequalities in income distribution in India.

vFkok@Or
		  ^fo'o esa lk{kjrk dk Lrj c<+us ls vkfFkZd 'kfDr dh vlekurk esa fxjkoV vkbZ gSA* fVIi.kh dhft,A

		  "There is downward trend in economic inequality worldwide with a rise in the average education level." 
Comment.

	 (i)	 Hkkjr esa Ñf"k esa fuEu mRikndrk ds fy, mÙkjnk;h rduhdh ?kVdksa dk mYys• dhft,A

		  Mention the technological factors responsible for low productivity in agriculture in India.

vFkok@Or
		  Hkkjr esa Hkwfe lq/kjksa ds D;k mís'; gSa\

		  What are the objectives of land reforms in India?
	 (j)		 Hkkjr esa foÙkh; {ks=k esa RBI us viuk ;ksxnku ,d fu;a=kd ls lgk;d ds :i esa D;ksa cny fn;k\

			  Why did RBI have to change its role from controller to facilitator of financial sector in India?

vFkok@Or
		  jk"Vªh; xzkeh.k vkthfodk fe'ku (NRLM) dh çeq• fo'ks"krkvksa dk mYys• dhft,A

		  Mention the chief features of National Rural Livelihood Mission (NRLM).

	 3.	 fuEufyf•r ç'uksa esa ls çR;sd dk mÙkj yxHkx 300 'kCnksa esa nhft,%

		 Answer the following questions in about 300 words each:
	 (a)	 jk"Vªh; dkS'ky fodkl fuxe (NSDC) ds vuqlkj O;kolkf;d f'k{kk vkSj çf'k{k.k dsUæksa esa fodV xq.koÙkk vUrjky vkSj 

çf'k{kdksa dh miyC/rk dk vHkko gSA bl leL;k dks nwj djus gsrq jk"Vªh; dkS'ky fodkl ifj"kn~ }kjk fd, x, ç;klksa 

dh ppkZ djrs gq, O;k[;k dhft,A

		  According to the National Skill Development Corporation (NSDC) there is severe quality gap and lack of 
availability of trainers in vocational education and training centre. Comment and explain the measures taken 
by the National Skill Development Council to overcome this problem.
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vFkok@Or
		  Hkkjrh; vFkZO;oLFkk }kjk lkeuk dh tkus okyh fofHkUu leL;kvksa ,oa pqukSfr;ksa dk vkykspukRed ewY;kadu dhft,A

		  Critically evaluate various problems and challenges faced by our Indian economy.
	 (b)	 eè; çns'k ds lgdkjh vkUnksyu dh vkykspukRed leh{kk dhft,A

		  Critically evaluate the Cooperative Movement in Madhya Pradesh.

vFkok@Or
		  ¶lwpuk çkS|ksfxdh dk lrr fodkl o •k| lqj{kk çkIr djus esa egÙoiw.kZ ;ksxnku gSA¸ fVIi.kh dhft,A

		  "Information Technology plays a significant role in achieving sustainable development and food security." 
Comment.

	 (c)	 Hkkjr esa csjkstxkjh dh leL;k dks nwj djus gsrq iapo"khZ; ;kstukvksa ds nkSjku fd, x, ç;klksa dk o.kZu dhft,A

		  State the measures taken during Five-Year Plans to solve unemployment problem in India.

vFkok@Or
		  ckjgoha ;kstuk dh lEHkkoukvksa dk blds fodkl ds pkydksa vkSj ;kstuk ds fy, fodkl y{;ksa ds çdk'k esa fo'ys"k.k 

dhft,A

		  Analyze the prospects of Twelfth Plan in the light of its drivers of growth and growth targets for the plan.
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